1/od?/ dp™d ™Y Gev]

Ratio to ATLAS

=
<
[N

|
o
R

T

[HEN
o
W

—
<
n

107

[EEY

0.5

13000 GeV pp

tt
[ L Y I L B B B g
= top : : 39
- pT (ATLAS semileptonic ttbar) 343
- 13
o
— <
B 1o
—
L =
— 0m
— N 0%
L -1 >
- v m[s
- i 1
- ™M
@
— —™
S
B 10O
™
—
— Z>§
— s
B m  ATLAS 16
» ]
- ¢ Sherpa 2.2.0 default m - %
L v
— =S
— 1o
- (@]
o P S I O T A R RO =
— —2
R — ‘ E
B A : N
¥ 1
R _
L —0.5
[P S T R R S I R T TR T P S TP TR T |
500 1000 1500 2000

bar{t

p"* [GeV], Iy**" Y in [0,1]



	Contents
	Page 1


